
226/3 1 P.T.O. 

Candidates must write the Code on the 

title page of the answer-book. 

 
 Series GBM  H}T ²¥¾.     226/3 

    

 

 

c}d ²¥¾^c  

  

 

 qHc\p HcHy q²¾crIV Hc de} qH qBg \of²¾ \§Wc Wy N\y h}By 8 \¥²y¾ h²¾ & 

 \of²¾ \§Wc Yy E¨\c g§Oy h§X qY§Wy JBy H}T ²¥¾. ²¥¾v \orqIApcXr E¨Wc \tgqWHp Yy 

`t§I \¥²y¾ Wy kcvc qd§IV & 

 qHc\p HcHy YyI de} qH qBg \of²¾ \§Wc qeM 30 \of²¾ h²¾ & 

 qHc\p HcHy E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, \of²¾ Yp n`p£H (grqcAd ²¥¾^c) kcvc 

qd§I} & 

 qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q`¥R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc 

geycy 10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed \of²¾ 

\§Wc ²¥¾v \mª²¾Jy AWy qBg g`y qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc ²¾hr 

qdIVJy & 

  Please check that this question paper contains 8 printed pages. 

  Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

  Please check that this question paper contains 30 questions. 

  Please write down the Serial Number of the question before 

attempting it. 

  15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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AcXfpgWo¾ 
(\¥Op^r EdXp) 

ECONOMICS 
(Punjabi Version) 

g`p£ gr`p£ : 3 K¥Ry   \vc²¾ A¥H : 100 
Time allowed : 3 hours Maximum Marks : 100 

qeAp\H q²¾cYyf : 

(i) Y}hp£ I¥Tp£ Yy gpcy \of²¾ kcvcr h²¾ & 

(ii) hc qBH \of²¾ Yy q²¾cZpqcW A¥H EgYy gph`Vy qYWy JBy h²¾ &  

(iii) \of²¾ g¥qIAp 1 – 5 AWy 16 – 20 ^htW N}Ry E¨Wc epdy \of²¾ h²¾, hc 

qBH \of²¾ Yp 1 A¥H h± & qB²¾ªp£ M~ hc \of²¾ Yp E¨Wc Hyed qB§H epH 

qeM qYG & 

(iv) \of²¾ g¥qIAp 6 – 8 AWy 21 – 23 N}Ry E¨Wc epdy \of²¾ h²¾, hc qBH 

\of²¾ Yy 3 A¥H h²¾ & hc qBH \of²¾ Yp E¨Wc Ap`W}c Wy 60 f^Yp£ W~ 

eZycy ²¾hs h}Vp MphrYp &  

(v) \of²¾ g¥qIAp 9 – 11 AWy 24 – 26 er N}Ry E¨Wc epdy \of²¾ h²¾, hc 

qBH \of²¾ Yy 4 A¥H h²¾ & hc qBH \of²¾ Yp E¨Wc Ap`W}c Wy  

70 f^Yp£ W~ eZycy ²¾hs h}Vp MphrYp & 

(vi) \of²¾ g¥qIAp 12 – 15 AWy 27 – 30 qeApqIApW`H E¨Wc epdy \of²¾ 

h²¾, hc qBH \of²¾ Yy 6 A¥H h²¾ & hc qBH \of²¾ Yp E¨Wc Ap`W}c 

Wy 100 f^Yp£ W~ eZycy ²¾hs h}Vp MphrYp & 

(vii) E¨Wc g¥Iy\ AWy UtHey h}Vy MphrYy h²¾ AWy H}qgf Hc} qH qY§Wr h}Br 

gr`p qe§M hr qY§Wy OpV & 
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I¥T A 

1. qBH qeHcyWp Yp ^kpc Hr`W E\c H}Br \c_pe ²¾hs ht¥Yp (ghr qeHd\ 

MtV}) 1 

(a) \vc²¾ \oqWa}JWp qeM 

(b) ByHpqZHpc (monopoly) qeM 

(c) ByHpqZHpcpW`H \oqWa}JWp qeM 

(d) E\cdy gpqcAp£ qeM 

2. ByHpqZHpcpW`H \oqWa}JWp Yr H}Br qBH qefyfWp Yg} & 1 

3. IcM qeZr cphs qBH egWv Yr `¥J ²¥¾v ŷd}M Eg hpdpW qeM qHhp Op£Yp h± 

OY~ (ghr qeHd\ MtV}) 1 

(a) egWv Yr Hr`W qTJYr h±, Wp£ qBg E\c IcM eZYp h± 

(b) egWv Yr Hr`W qTJYr h±, Wp£ qBg E\c IcM KRYp h± 

(c) egWv Yr Hr`W qTJYr h±, Wp£ qBg E\c IcM Ehr cqh¥Yp h± 

(d) egWv Yr Hr`W eZYr h±, Wp£ qBg E\c IcM KRYp h± 

4. qBH egWv Yr `¥J Yy ^pcy H}Br er HX²¾ \vcp Wp£ hr `¥q²¾Ap Op£Yp h± OY~ Eg 

qeM hyS¾ qdIy Yp qkHc h± (ghr qeHd\ MtV}) : 1 

(a) egWv Yr Hr`W 

(b) egWv Yr `pWcp 

(c) g`p£ AeZr 

(d) E\cdy gpcy 

5. A²¾qZ`p²¾ (EYpgr²¾Wp) eHc Yr \qc_pfp qYG & 1 
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6. EW\pY²¾ g¥_pe²¾p gr`p Yy AcX AWy qBg YrAp£ qefyfWpep£ Yg} & 3 

7. ‘‘Hr EW\pY²¾ HcrBy’’ Yr g`qgAp Yr qeApqIAp Hc} & 3 

8. qBH egWv Yr ‘`¥J qeM epZp’ AWy ‘`¥J-`pWcp qeM epZp’ qeM A¥Wc 

g\fR Hc} & 3 

Op£ 

‘^OR g±R’ AWy ‘^OR cyIp’ Yy AcX g`PpG & 3 

9. \vc² \oqWa}JWp Yr ‘‘^kpc Yy ^pcy qeM \vcp qJAp²¾’’ qefyfWp Yr 

qeApqIAp Hc} & ¾ 4 

10. qBH g¥qIApW`H EYphcV Yr ghpqBWp ²¾pd hcpg`p²¾ gr`p£W \oqWgXp\²¾ 

Yc Yp AcX g`PpG & 4 

11. ^kpc \vcWr Yr \qc_pfp qYG & ‘ApJWp£ Yr Hr`W’ HpcH Yr qeApqIAp 

Hc}, qOgYy Hpc²¾ \vcWr qeM \qcecW²¾ h} gHYy h²¾ & 4 

Op£ 

OY~ qgc³ qBH ApJW (input) YrAp£ qBHpBrAp£ Yr `pWcp eZpBr Op£Yr h± 

AWy h}c ApJWp£ ²¥¾v gqXc cqIAp Op£Yp h± Wp£ gr`p£W EW\pY AWy Htd EW\pY 

Yp ecWpE qHh} qOhp h}eyJp ? Yg} & 4 

12. OY~ qBH egWv Yr Hr`W < 10 \oWr qBHpBr W~ eZ Hy < 12 \oWr qBHpBr ht¥Yr 

h± Wp£ qBgYr `¥J `pWcp 20 \oqWfW KR h} Op£Yr h± & qBgYr `¥J Yr Hr`W 

d}M Yp dyIp Hc} & OyHc qBgYr Hr`W < 10 \oWr qBHpBr W~ eZ Hy < 13 

\oWr qBHpBr h} OpBy Wp£ qBgYr `¥J `pWcp qeM qHW²¾p \oqWfW \qcecW²¾ 

h}eyJp ? 6 
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13. hyS¾ qdIr gpcVr (Ry^d) ²¥¾v \vcp Hc} : 6 

EW\pY²¾ 
(qBHpBrAp£) 

A¡gW gqXc 
dpJW (<) 

A¡gW \qcecWr 
dpJW (<) 

gr`p£W dpJW 
(<) 

Htd dpJW 
(<) 

1 120 40 .... .... 

2 60  56 .... 232 

3 .... 54 .... .... 

4 30 .... 54 .... 

5 .... .... .... .... 

14. hyS¾ qYWy A¥HqmAp£ W~ EW\pY²¾ Yp Eh gWc \Wp Hc} qOhmp EW\pYH ²¥¾v eZ 

W~ eZ dp_ YyeyJp (gr`p£W dpJW AWy gr`p£W g¥\op\Wr (ApJ`) qeZr Yr 

ecW~ Hc}) & Ap\Vy E¨Wc Yy dBr Hpc²¾ qYG & 6 

EW\pY²¾ (qBHpBrAp£) 1 2 3 4 5 

Htd dpJW (<) 9 17 24 29 36 

Htd g¥\op\Wr (ApJ`) (<) 11 20 27 32 35 

15. \vc²¾ Ad\pqZHpc AWy A\vc²¾ Ad\pqZHpc qeM A¥Wc g\fR Hc} & 

Ad\pqZHpc qeM ‘‘³c`p£ Yy Ycq`Ap²¾ \cg\c q²¾c_cWp’’ qefyfWp Yr 

qeApqIAp er Hc} & 6  

Op£ 

qBH gpcVr Yr ghpqBWp ²¾pd `¥J Yr AqZHWp AWy \vcWr Yr AqZHWp Yy 

AcX g`PpG & qB²¾ªp£ Yy g¥Wtd²¾ Hr`W E\c \o_pe Yr qeApqIAp Hc} & 6 
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I¥T ^ 

16. cpOge (Revenue) KpRy Yr \qc_pfp qYG & 1 

17. OyHc gr`p£W E\_}J \qcecWr gr`p£W ^MW \cqecWr W~ qkApYp h± Wp£ JtVH 

Yp `td (ghr qeHd\ MtV}) 1 

(a) 2 W~ qkApYp h}eyJp 

(b) 2 W~ KR h}eyJp 

(c) 2 Yy ^cp^c h}eyJp 

(d) 5 Yy ^cp^c h}eyJp 

18. `¥J O`pep£ qeM fp`d h²¾ (ghr qeHd\ MtV}) 1 

(a) ^MW IpWp O`ªpep£ AWy q`ApYr O`ªpep£ 

(b) ^MW IpWp O`ªpep£ AWy Mpdv IpWp O ª̀pep£ 

(c) Mpdv IpWp O ª̀pep£ AWy q`ApYr O`ªpep£ 

(d) g_ \oHpc YrAp£ O`ªpep£ 

19. Yyfr `tYcp Yy `t§dhcpg Yp Hr AcX h± ? 1 

20. gr`p£W ^MW \cqecWr Yr \qc_pfp qYG & 1 

21. gRpH AWy \oeph qeM A¥Wc g\fR Hc} & hc qBH Yp qBH EYphcV qYG & 3 

22. egWv qeq²¾`y \oVpdr Yy A¥WcJW ApEV epdr ‘‘g¥\Wr g¥MW Hc²¾ qeM 

HqS¾²¾pBr’’ g`qgAp Yy ^pcy g`PpG & 3  

Op£ 

`tYcp Yy ‘‘qeq²¾`y Yp `pqZA`’’ H¥` Yy ^pcy g`PpG & 3 
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23. \cW§I Hcp£ AWy A\cW§I Hcp£ qeM A¥Wc g\fR Hc} & hc qBH Yp qBH 

EYphcV qYG & 3 

24. qBH AcX qeegXp g¥Wtd²¾ qeM h± & hyS¾ qdIy A¥HqmAp£ W~ gr`p£W ^MW 

\cqecWr Yp dyIp Hc} : 4 

(a) Ap`Y²¾ = 10,000 

(b) gtW¥Wc E\_}J = 500 

(c) E\_}J IcM = 8,000 

25. HzYcr |̂H Yy ‘‘^|Hp£ Yp ^|H’’ H¥` Yr qeApqIAp Hc} & 4 

                       Op£  

e\pcH ^|Hp£ cphs gpI q²¾c`pV Yr \cqHqcAp Yr qeApqIAp Hc} & 4 

26. qcV (EZpc) Yr qgcO²¾p ²¾p Hc²¾ epdrAp£ \v¥OrJW \op\WrAp£ Hr ht¥YrAp£  

h²¾ ? AOyhrAp£ \op\WrAp£ Yy Y} EYphcV qYG & 4 

27. _tJWp²¾ g¥Wtd²¾ dyIp Yy (a) Mpdv IpWp AWy \v¥OrJW IpWp Yy Ycq`Ap²¾ AWy 

(b) gtW¥Wc AWy g`pa}O²¾ dBr g¡qYAp£ Yy Ycq`Ap²¾ A¥Wc g\fR Hc} & 6 

28. IcM qeZr cphs cpfRcr Ap`Y²¾ Yp dyIp O}Ip HcYy g`z qOhmrAp£ 

gpeZp²¾rAp£ ecWVrAp£ MphrYrAp£ h²¾ E²¾ªp£ Yr qeApqIAp Hc} & 6  

Op£ 

 Hr hyS¾ qdqIAp£ ²¥¾v _pcW Yy Yyfr EW\pY qeM fp`d HrWp OpByJp ? Ap\Vy 

EWc Yy dBr Hpc²¾ qYG & 6 

(a) _pcW qeM qeYyfr H¥\²¾rAp£ cphs H`pqBAp dp_ 

(b) _pcW qeM cvgr YvWpepg qeM H¥` Hc chy _pcWrAp£ Yp q`h²¾Wp²¾p 

(c) _pcWr gRyR ^|H Yr O\p²¾ qeM qBH fpIp cphs H`pqBAp dp_ 
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29. (a) ^kpc `t§d E\c gHd cpfRcr EW\pY AWy (b) q²¾ed cpfRcr \oa}Oy 

Ap`Y²¾ Yp dyIp Hc} : 6  

   (<Hc}mp£ qeM)    

(i) Hc`MpcrAp£ Yp q`h²¾Wp²¾p 2,500 

(ii) ¾dp_ ¾ 700 

(iii) ge±-q²¾a}qOWp£ Yr q`fcW Ap`Y²¾ 7,500 

(iv) gcHpcr A¥W` E\_}J IcM 3,000 

(v) qHcpqBAp 400 

(vi) qeApO 350 

(vii) qeYyfp£ W~ q²¾ed HpcH Ap`Y²¾ ¾50 

(viii) qeYyfp£ W~ q²¾ed Mpdv hgWp£WcV 100 

(ix) q²¾ed A\cW§I Hc 150 

(x) qKgpeR ( t̀§dhcpg) 70 

(xi) q²¾ed q²¾capW 40 

30. qY§Wy JBy E\_}JWp eHc W~ ^MW eHc \op\W Hc²¾ Yy dBr dBy OpV epdy 

HY`p£ Yr cv\ cyIp qYG & cyIp qM§Wc Yr ecW~ Hc} & 6 

²}¾R :  hyS¾ qdqIAp \of²¾ Hyed qYofRr qeHdp£J \orqIApcXrAp£ dBr \of²¾ g¥qIAp 30 

Yy Xp£ ^Ydep£ \of²¾ h± & 

cpfRcr Ap`Y²¾ g¥Wtd²¾ YrAp£ Y} qeHdq\W fcWp£ Y§g} & OyHc AcX qeegXp 

g¥Wtd²¾ qeM ²¾p h}ey Wp£ Hr h}V Yr g¥_pe²¾p h} gHYr h± ? g`PpG & 6 

100 


